sS4 TH1LHBE (o Ao HRA+HSEN)

RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2, 457 -9 2,813 -3 2, 869 1 5, 682 -9
JHPTHT— T H 1,048 -3 956 1 868 -9 1, 824 -1
T — T H 597 7 581 8 576 -1 1, 157 7
P =TH 682 —4 741 -7 687 -9 1, 428 -9
JHPTHTIU T H 489 3 513 4 538 3 1,051 7
P HT H 324 -9 353 -9 324 -3 677 -5
PR T H 283 -1 352 -9 362 -1 714 -3
FESEHT 198 1 201 4 214 0 415 4

A 374 -9 449 -9 465 -9 914 —4

T H 1, 882 5 1, 989 ) 2, 045 4 4, 034 2
PIPTHT 332 1 340 0 331 0 671 0

T 913 -2 964 -3 955 -9 1,919 -5

T —TH 286 3 362 2 400 2 762 4
T T B 355 7 449 5 449 3 891 8
Al =T H 506 0 688 0 683 0 1,371 0
FHTIY T H 276 -2 403 -1 379 -5 782 -6
HrH 235 0 269 0 255 1 524 1

H] = 299 1 363 0 335 —4 698 —4

=K 442 -3 458 0 468 -3 926 -3

— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y AFNT T H 33 0 45 0 43 0 88 0
G 107 0 127 1 125 0 252 1

— Y KHTH 5 0 5 0 6 0 11 0
KH B 663 3 839 -2 856 5 1, 695 3

[E TN 4, 492 0 4,891 4 5, 084 0 9,975 4

IR 4, 705 22 4,613 6 4, 680 0 9, 293 6

TR 1, 382 -2 1,477 —4 1, 546 2 3, 023 2
B+ 6 1 10 3 8 1 18 4
ELHR—TH 902 5 798 1 957 3 1, 755 4
2E+R_TH 1,117 -2 1,105 —4 1,182 -1 2, 287 -5
ELHR=TH 867 -1 808 -6 859 2 1, 667 —4
& LRIUTH 708 5 703 0 720 1 1,423 1
ELRATH 710 -1 781 —4 702 —4 1,483 -8
ELHRANTH 0 0 0 0 0 0 0 0
B T 1,927 9 1,917 1 1, 880 5 3, 797 6

Wy —T1TH 293 8 307 6 304 4 611 10
Wy i TH 243 2 250 4 254 3 504 7
Wy b ="TH 435 -1 447 -1 462 1 909 0
o T H 786 2 720 -3 843 -1 1,563 —4
Wy T B 451 7 490 6 519 1 1,009 7
IT—T1H 257 2 303 3 339 1 642 4
FEET T H 565 2 563 0 642 -1 1,205 )
T =T H 187 -1 191 -2 231 —4 422 -6
2 32, 819 63 34, 634 11 35, 438 7 70, 072 18
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